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Ts=1 =& |

Ta=r*L*Kk |

[ = (1 15LLH 26124 35 L34 4 LA+ 5¥L5) | (1 141 241 341 4415) |

r1=003*N+25=2712/M |

r2=003* N +25=250 /M |

r3=1007* N +25=250 2/M |

r4=007* Ql+25=25 2/M |

r5=0.07* Q2 +25=25 &/M |

r = (2.71%8+2.5%0+2. 5*0+2. 5+0+2. 5*0) / (2. 71+2. 5+2. 5+2. 5+2.5) = 1.71|

K=110 (20 H4) |
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Ta =r*L*k =171*8*11=1505 |

F=F+(fl+7f2+f3+14) |
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F=10+(0+0+0+0.05 =105 |

Tc =(Ts +Ta) | F = (15+15.05) / 1.05 = 28.62 |

Q=60/ Tc =210 B/HR |

1L AN 88 B |

MSHl : 10939.68 / Q= 5209 |

T2Hl 31751/ Q= 15,119 |

2 Hl: 131002 / Q= 62,381 |

W=Hl: 22,726 | Q=10,821 |

15,119|

62, 381

I
62, 381]
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AE 2 U E((SF00-700 10 HYE YLEE () W] L2 ] 2]
I I I I
LU 12,438 | Q=502 | | 5,922| | 5,922
I I I I
2 Hl: 7,05 | Q=335 | | | 3,35| 3,350
I I I I
A | 10, 821 5,922| 3,350| 20,093
I I | I
3.5 24 | | | |
I I I I
M Z: 97,30 2<0> [ 8 HR | Q= 11,50 | | 11, 590] | 11,590
I I I I
PEOE 52374 % 2<0> | 8HR [ Q=623 | | 6, 235 | 6,235
I I I I
ROUIA . 69,773 % 1<O1> [ §HR [ Q= 4,153 | | 4,153 | 4,153
I I I I
A H | | 21, 97| | 21,978
I I I I
A | 16, 030] 43,019 65, 731 124,780
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